1 | 2 3 L 5 6 7 8
MaX 250
A
/
/
7
ll
Hexagonal head screw driver —
/ P/N: 6103 600 0021
for hexagonal head screw
max. torque=0,5Nm -
B
14,8 e
’ 39,3 C
Internal grounding block (optional)
Knurled head
] ring y |
| = = = < For strain relief an additional InduCom cable or a crimp flange and
pl ks ferrule combination depending on the cable is necessary
o~ ~N D
2 2 Content InduCom hood Spare parts (M0Q100)
Dim. B Dim. B Pos. Quantity |Description Part Number Quantity
AN dentificat dentificati 01 1 metal hood
{@'\) entification on entification on | o 1 etal cover
NP4 locking screw locking screw
3 100 UNC S S 03 2 locking screw (assembled):
- | =) | =) either knurled thumb screws 4-40 UNC (for 0014) 0967 002 9018 1
# | # ] or hexagonal M3 with captive washer (for 1014) 0967 002 9019 1
X=3 X=0 X=1 X=2 or hexagonal 4-40 UNC with captive washer (for 2014) 0967 002 9020 1 ‘
M3 x 16.8 +-40 UNC x 168 M3 x 11.6 +-40 ONC x 116 or knurled thumb screws M3 [for 3014) 0967 002 9017 1
03 00T K0T YYY 0L ’ ground!ng screw (assembled) for version with internal 0963 002 0007 1
, . grounding block
6103 001 0014 160 L-40 UNC Knurled thumb screw Without ring : — :
6103 001 1014 160 3 Hexagonal screw with captive washer T% Knurled head | With infernal grounding 05 3 cover screw M2,5 with philips head (not losable in cover) 0963 002 0006 1
6103 001 2014 160 [ 4-L0 UNC [ Hexagonal screw with captive washer 3 block E |@ All Dimensions in mm | Scale f Free size fol. Ref. [ ]
6103 001 3014 160 M3 Knurled thumb screw With ring % Original Size ON A3 | 21 Sub
6103 001 0014 161 | 4-40 UNC Knurled thumb screw Without ring g | All rights reserved | Sreared by hepected by jargardisation | Dafe State
, - i , HARTING 2021-12-10 Final Release
6103 001 1014 161 M3 Hexagonal screw with captive washer 1 & Knurled head Without internal Department £ pp
6103 001 2016 161 | 4-40 UNC | Hexagonal screw with captive washer 3 grounding block — Title 0 o
6103 001 3014 161 M3 Knurled thumb screw With ring HARTING |ndU[0m 15p SLO entry heXS(reW A 40 500000207872 F
; oot Type Number Rev. Page
Part Number Sc?emv: Size Locking screw type Idle:[tgll-'cgaf;g:e;or Internal grounding block D-32339 Espelkamp TB 6103001)(014 [ 11
1 | 2 | 3 | L 5 6 | 7 8

A3



